FgArea: [0 ]
NC11 P3-14
2025-05-02 (Day 32)







VN

1

30

15

10

1200
1000
800 -
600 -
400 -
200 -






1400 ~

1200 ~

1000

800

600 -

400 -

200 -

1 VI vs Du

T
1000

T T
1500 2000
DU

T
2500




| ©
™
| O
N
L ©
N
| W
—
| ©
—
& -0
—
——0
+
4
T T T T T T
© o < ™ N —
o o = o o =}



"

1 setVI

|

30

25

15

10

120
100
8
6



1 (fgArea = NA)

5000 4+ —@— ECI*10%
—&— ECO

4500

4000

3500

3000 -

2500

2000 -




—&— PHI*10%

754 —®— PHO




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR
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15:50 300 150.0 FH| FhHA@15:50 KRENFZF (RATRELES)
=23+13300.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0
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P3-14
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23] 2343.0 (117%) 1430.0 32 F%KEC: 2080.0, PH: 5.8
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P3-14

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS R

06:15 174 110.0 (Z=| 1Ri%@06:15 Bzh (KEBERESE)
07:10 174 110.0 (2 =| 1BRi%e07:10 Bzh (kAFERSE)
08:05 174 110.0 |Z=| 1Ri&08:05 Bzl (KkPB{EEEE)
09:00 174 110.0 FA| {RRi&@09:00 Bzl (kA{EREEE)
09:50 174 110.0 FH| 1BRi%@09:50 Bzh (KAERE)
10:50 174 110.0 FB| {Ri&@10:50 B (FAFERSE)
11:45 174 110.0 FR| {Ri%@11:45 B3 (RAERESE)
12:40 174 110.0 FA| 1BRi&e12:40 B3 (RAHERSE)
13:35 174 110.0 FA| 1Ri%@13:35 Bzh (kAEREE)
15:10 174 110.0 FA| 1Bi&e15:10 Bzh (RAERES)
213t 1740.0 (10)%) 1100.0 3233 KEC: 2080.0, PH: 5.6

TERRHER 2 STEEART (113.0 :

PRIASLPRIEBE84. 0 ml.

84.0), AREAT—A%E XAHE
LRGEREE (174) 5748 (229. 0) FF, FIREH T & @G EIRS £ XER

RERSEBEEC (2750.0) Hi&EEC (2000.0) REIK, BHE

HEEIHECE (2750. 0 vs 5035.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=30 (2025-04-30)

1004 VI, VBPPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1500
1300
75 4
9041005— 1000
50 744 700 7
95 - 500
158 Warning: lcol [FVI',| "FVO’'] missing 18
04 r0
| — ME $30
- o R e e e e e Y maxM . |
100 - - 25
(NN
=
50 4 i i i 8 §& i - 20
|r |r AR R . »
1.0 I:l:I-—_I:I I
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
Bylnit @D32:02:53: ET=665 Fg=660.0 Ro=2.0
200 - ! L 1500
1
200 - : - 1000
1
100 - : - 500
—eo—o—p9
8_5_. o __lo 0
4004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
n|%n|2=| B | kg | G | iE | W& | FB | BB | BB | BH | BH | BH | BH | FH | FH | FA i 5 5 5 i 5 1500
: |
3001 "ByEt @30 18:31: ET=1033 Fg=672.0 Ro=nan I
- 1000
- 500
408— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
n|25 |85 2525|8525 |2=2=| BB | TR | BB | BB | R | BB [ BB | B [P | BB |&E=|2x|25|5=2s 1500
_ 1 B
91 ByWoFy @D32102:53: ET=1005 Fg=1100.0 Ro=26.0
200 - : - 1000
1
100 - : - 500
1
R T = === T e N— —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0812|252 (2R 25|27 (27 (25|25 BB [ [ | BH | BB [BA [ |BH | BB [ZE|ZE|2F[2(FE
0.6 -
0.4 1
0.2 A
0.0
—_— 4

o | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



14.6

14. 4

14.2

14.0 ~

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

M_E

T T T T
600 700 800 900

m=685,m FV0=0

T
500

60

58

56

54

52 A

50 A

—o— M_E

i
=
=
i

6é0 665
m=900,n FV0=0

20 A

18

16

14

12

10 ~

—— ME

965 9%0
m=640,n FV0=0

900

19.7

19.6

19.5 ~

19.4

19. 3 A

19. 2

- MW

i
i
i

645 650

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

m=495, FV0=0

40

38

36

34

32 -

30 A

560 565
m=730,n FV0=0

495

30

28 -

26

24

22

20 A

-o— ME

T
730 735 740

23 -

22 -

21 -

20 ~

19

—— MW

W
™

600 700 800 900

m=685,m FV0=0

500

20. 4 -

20. 2 -

20. 0 -

19. 8 A

19.6 -

-o— MW

685 690 695

m=560, FV0=0

14. 50

14. 48 -
14. 46 -
14. 44 -
14. 42 -

14. 40 ~

——

i

M_E

5é5 5%0
m=770,n FV0=0

14. 30 -

14. 28 ~
14. 26
14. 24 ~

14. 22

14. 20 ~

—o— ME

7;5 7é0
m=495,n FV0=0

19. 20 -

19. 18 ~
19.16
19. 14 ~

19.12

19.10 ~

M_W

495 500 505

m=730,m FV0=0

21.0

20. 8

20. 6 -

20. 4

20. 2 -

20.0 -

-o— MW

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

19.

19.

19.

19.

19.

21,

21.

21.

21,

21.

20.

m=640, FV0=0

50

48 -

46 -

44 -

42 -

40 -

M_E

6&5 660
m=800,n FV0=0

10

08 -

06 -

04 -

02 -

00 -

—o— M_E

865 8%0
m=560,n FV0=0

1T —e— mw

565 5%0
m=770,n FV0=0

560

1T —e— mw

770 775 780




m=800, FV0=0
—o— MW
23.0 1
22.5 1
22.0 1
21.5
T T T
800 805 810

22.

22.

22.

22.

21.

21.

21.

m=900, FV0=0

75 4

50 -

25 ~

00 -

75 A
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25 A
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T
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P3-14

RriE) | BRI (D) | EME (EA/K) | XK SRR

01:15 152 110.0 BE| 1BRi%eo1:15 Bz (REERSE)
02:15 152 110.0 RS Ri&e02:15 Bz (REAERESR)
03:15 152 110.0 RS {Ri&@03:15 Bz (REAERSE)
07:30 152 110.0 FE| 1BRi%@07:30 B (kAERSE)
08:50 152 110.0 (& =| 1Ri%e08:50 Bz (kBEREE)
09:45 152 110.0 BE| 1Ri%e09:45 Bz (RF{EEEE)
10:35 152 110.0 S| {Ri&@10:35 BHal (REAEHSE)
11:25 152 110.0 el Rige11:25 Bz (REAERSE)
12:25 152 110.0 | Rige12:25 Bal (REEESE)
13:25 152 110.0 B 1Rige13:25 Bzh (REEESE)
14:05 152 110.0 BS| 1Ri%e14:05 Bz (GGREMRESE)
14:45 152 110.0 B 1Ri%e14:45 Bzh CGREERESE)
15:35 152 110.0 | Ri%@15:35 Bz (REERESE)
16:30 152 110.0 BS| 1Ri%e16:30 B (GRE{EESE)
213t 2128.0 (14)%) 1540.0 32 UHIKEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (195.0 : 144.0), AREETF—RE XAH4
LEORFEBRRTC (300) 5714 (229. 0) AFF, FIEEHT X BREERS EXIER
ZRIASERRIERE144.0 ml.

REXEEBIEC (2690.0) 5% FEEC (2000.0) REKR KA, BFHE
HEEIHECE (2690. 0 vs 4868.0) 5



FRV (ml plant-1)

ET (ml/hr/plant)

]

P3-14_0, Day=29 (2025-04-29)

1004 VI, V0, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1501415 1500

75 10
- 1000

50 A

74690
550
- 500
25
|22 Warning: lcol [FVI',| "FVO’'] missing 158
Vi

-0
— ME ¥30

200 FRV I maxM

- 25

M_E

100 fF¥———— - oo oo oo -y —-rr=- e == il Tl el |_ o it sttt m—— L 20

11 |
. i

o 1 1N I I 1

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0

|
400 | BvInit @D32!02:53: ET=933 Fg=1100.0 Ro=3.0
- 2000

300

TT1 - 1000

200 -

100 A

:
|
:
+
|

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

R O 0 0 0 0 0
. !

1
i

ByEt @29 18:46: ET=870 Fg=1107.0 Ro=nan

™
T
™
T0H

400

300

200 1 L 1000

ET (ml/hr/plant)

100 A

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 ES ES E3 E3 — — E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i i i B | 25| B |5=]| B 5 5 B B 5 5 B B 5 A B 5 G A

400

- 2000

]
300 4 ByWoFv @D32:02:53: ET=1415 Fg=1540.0 Ro=39.0

200 -

1
1
: - 1000
1

ET (ml/hr/plant)

100 A

1.0

0l B | T | % | | % | [Zz| A [5z| ™ | m | | | | | [ % [ m | | m | m]m|m] s

0.6
0.4+

0.2~

1808 3

—_— 4

[ ] | _obs
—@— PPFD obs

60
40 -
— RH
® RH obs ®
20 - N

(] RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



17.0 A

16.5 A

16. 0

15.5 ~

15. 0 ~

14.5 ~

17. 20

17.18 ~

17.16

17.14 ~

17.12

17.10 A

16. 00

15. 75 A

15. 50

15. 25

15. 00 ~

14.75

14. 50

14.9

14. 8 ~

14.7

14.6

14.5

—&— ME
460 660 860 10b0
m=515,m FV0=0
—— ME
5%5 550 555
m=910,m FV0=0
—&— M_E
—0-0-0-0-0-0-0-0-0-90-0-0-90-9
9%0 9%5 950
m=1065m FVO=0
—— ME
10%5 1d70 1675

m=380, FV0=0

17. 20

17.18 A

17.16 -

17.14 A

17.12 A

17.10 A

—o— ME

380 3é5 3é0
m=635,n FV0=0

18. 0 A

17.5 A

17.0 4

16. 9

—o— M_E

635 6&0 6&5
m=915,n FV0=0

16. 00 A

15. 75 A

15. 50

15. 25 A

15. 00 A

14.75 A

14. 50

—o— M_E

915 920 925

27.5 A

25.0 A

22.5 A

20. 0 -

17.5 4

15.0 4

-— MW

400 600 800 1000

m
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17.
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17.

17.

16.

16.

16.

16.

16.

16.

15.

15.

14.

14.

14.
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16.

13.

15.

15.

15.

15.

20 A

18

16

14

12 A

10
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08 -

06 -

04 -

02 ~

00 ~

00 ~

75 -

50 A

25 A

00 -

00 ~

98 -

96

94

92 -

90 -

m=440, FV0=0
—o— ME
440 445 450
m=770,m FV0=0
- ME
770 775 780
m=1045n FV0=0
25 - —o— ME
>0 0000000000000
1045 1050 1055
m=380,m FV0=0
—— MW

380 385 390

m=500, FV0=0

18. 0 A

17.5 A

17.0 4

16.5 A

——

M_E

500

T
505

T
510

m=905,m FV0=0

15. 30 -

15. 28 A

15. 26

15. 24 A

15. 22 A

15. 20 A

—0—

M_E

905

T
910

T
915

m=1050m FVO0=0

15. 25

15. 00 -

14.75 A

14. 50

14. 25

14. 00 A

—0—

M_E

1050

1055

1060

m=440,m FV0=0

15. 90

15. 88 A

15. 86

15. 84 -

15. 82 -

15. 80 A

M_W

440

445

450




16.

16.

16.

15.

15.

14.

14.

14.

14.

14.

14.

14.

20 -

18 1

16 1

m=500, FV0=0

—o—

M_Ww

T
500

565 5%0
m=905,n FV0=0

1T —e— mw

905

9%0 9%5
m=1050m FV0=0

—o—

M_W

1050

1055 1060

m=515, FV0=0
—— MW
19
18
17 4
T T T
515 520 525
m=910,m FV0=0
—— MW
15.0 -
14.8 -
14.6 -
14.4 -
14.2 -
T T T
910 915 920
m=1065m FVO0=0
28 - —— MW
26 -
24 -
22 -
1065 1070 1075

m=635, FV0=0

17.50

17. 48 ~

17. 46

17. 44 ~

17. 42 ~

17. 40 ~

—0—

M_W

635

6&0
m=915,n FV0=0

T
645

15.2 A

15.0

14. 8

14.6

14. 4

14.2

——

M_W

915

T
920

925

16.

15.

15.

15.

15.

15.

15.

00 A

95 A

90 -

85

80 -

75 -

70 A

20 A

18 1

16

14

m=770, FV0=0
—— MW
7%0 7;5 7é0
m=1045q FVO=0
—o— MW
1d45 10%0 1655
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P3-14

RriE) | BRI (D) | EME (EA/K) | XK SRR

06:05 190 110.0 BE| {RRi%@06:05 Fz (REAEHE)
06:50 190 110.0 RS {Ri%@06:50 Fzf (KREEEE)
07:35 190 110.0 B 1Rige07:35 Fzh (REEEE)
08:20 190 110.0 BE| {Ri&e08:20 Fz (REAEHEE)
09:25 190 110.0 RS Ri&@09:25 Fzi (KREAEESE)
10:25 190 110.0 B Ri&e@10:25 Fzn (REERSE)
11:20 190 110.0 el Rige11:20 Fzy (REAEHE)
12:10 190 110.0 el Rige12:10 Fzy (REERSE)
12:55 190 110.0 el Rige12:55 Fx (REEESE)
13:30 190 110.0 | Ri%@13:30 Fz1 (REAEESE)
14:10 190 110.0 B Rige14:10 Fzy (REERE)
14:50 190 110.0 S| Ri%e14:50 Fzi (KREERSR)
15:35 190 110.0 | 1Ri&@15:35 Fz (KREEESE)
16:45 190 110.0 BS| 1Ri%e16:45 F3 GREAEESE)
=21t 2660.0 (14)%) 1540.0 32 UHIKEC: 2080.0, PH: 5.6

TERRHER 2 STEEART (124.0 :

ZRIASLBRIERE91.0 ml.
MR i Bl RECE IR fR 5k .

91.0), AIREHT—I@% XA 45
LoRGEREE (190) 574 (229. 0) FF, FIREH T & REEIRS £ XER

BEREMEC (2620.0) 5i%EEC (2000.0) RELK KA, B/E

HE[EKECE (2620. 0 vs 4505.0) 95
RE R EEBE 3 HEREC/PHIE S 5L, WRERS

NEAR BRI




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=28 (2025-04-28)

75 1

74455
50 A

540
25 A I
0
0 -

Warning: lcol [FVI',| "FVO’'] missing

100 +— V4, VO, FRV, ET— VI, VO, FVI FVO, FRV,adjFRV, ET

1394- 1500

- 1000

I - 500
22
= -0

150 1 o v

100 -

[$))
o

o A S S S S S G R e S S S R G S S S Smm S S R M S e S S S S S S S R S S S M R R S S R M S R R e R R R

2 30

- 25

M_E

- 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300 -

200 -

100 A

]
Bylnit @D32]02:53: ET=849 Fg=1320.0 Ro=278.0
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ByEt @D28 18:42: ET=1110 Fg=558. 0 Ro=nan

0 —& 06—

- 1000

40830 1 1
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=
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- 1000
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0.8
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1500 4
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—@— PPFD obs
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40 -
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RH_obs
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e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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